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PHILOSOPHY
[HONOURS]
Paper : VIII
Group - A & B
[OLD SYLLABUS]
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Use separate answer sheet for each Group.
GROUP-A

PART-I
(Vedantasara)
(@AVIE=AR)
[Marks : 50]
(N ¢ o)
1. Answer any two questions: 1x2=2
- 7S 20 Ted s ¢
a)  What is meant by nitya karma?
eyl <@Ire &6 (R 2
b)  What is meant by vastu?

G 00 5 @R ?

[Turn over]

c) How many kinds of Mahavakya-s are
admitted?
FOLBI R FIP T 2ER?

d) What are the different parts of savija
samadhi?
e IR erwafe 6 6

2. Answer any five questions: 2x5=10

(T-CHICA A 2oe Ted s ¢

a)  What are the different types of jnanendriya-s?
wifaEE [ien evmaf & e

b) Name the different kosa-s.
ffen e RwfE I @ |

c¢) What is meant by nirvikalpaka samadhi?
s Y <w@Ice & @R e

d) What are the marks of an eligible person?
SR e & e

e)  What is meant by adhyaropa ?
SIIICAI FEIC 6 @I 2

f)  What are the different types of vayu ?
fafen g agef & e

g) What are the different types of linga-s to

46(A)/OS

determine tatparya?

Sles e [fen a7 fomrafa [ 2

[2]



Answer any three questions: 6x3=18

@I fomft dos Ted mie ¢

a) Distinguish between avarana sakti and
viksepa Sakti . Give examples.

wikRel *fe @ Rewst =ifeq W ANy 391 738
S |

b)  Whatis meant by sadhana catustaya ? Explain
briefly.
AN B IS [ (A 2 ALCHC 1] 4 |

c) Distinguish between gross body and subtle

body. Give examples.

FEMR @ IR N 21127 51 | Tizsel wie |

d) Distinguish between parinama and vivarta.

Give examples.
Al @ RRrS Ty #1146 9 | Tz wis |

e) Distinguish between svarupa laksana and

tatastha- laksana .

FEho| T G Oh% ST N ANy el 4 |
Answer any two questions: 10x2=20
@G 5 20 Ted vie ¢

a)  What are the different types of sasfa admitted
by the Vedanties? Explain different kind of

46(A)/0S [3] [Turn over]

b)

d)

46(A)/OS

satta in brief. Is the world sat or asat? Answer
after Vedantasara . 2+4+4

AR @ 211 el R B0 2 Aol [afeq
oI el ETo F9 | Tole F A 7 e ?
AR LTI T&F 711G |

How is ajnana defined? Is it one or many?
Discuss. 6-+4

[ea| (1< o7 [P (e 3R 2 TR U« 92 2
SIS 4|

Discuss the nature of sravana, manana and
nidhidyasana as instrumental  to
atmasaksatkara . 10
SISPTFRISICIR SoI 21103 &1, il '@ ffwaoTeTa
o Ao F9 |

Distinguish between vakya and mahavakya .

Show how mahavakya can express identity

between jiva and Brahmana. 2+8=10

IR 8 VBRI W& AN o7 39 | &= € Iehd
R RIRSIASIS EPMCQ RRARNISEE! KRR CIRIEA RGN




PART-II
(Nyayavindu)
(QIEIEEY)
[Marks : 50]
(N ¢ o)
5. Answer any two questions:
@I g e bed vie ¢
a)  What is meant by samyak jnana?
AP Tl 0O 6 (RIT 2
b)  What is meant by arthasarupya ?
AR TS 6 (@RI 2
c) Whatis meant by kalpana ?
T 0o B (A2
d) What is anubandhas?
e 2
6.  Answer any five questions:

@-GFI Hofo arg Tea wie ¢

1%x2=2

2x5=10

a)  What are the different types of kalpana?

Feg f[fen el & e

46(A)/0S [5]
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b)

d)

g)

46(A)/OS

What are the different characteristics of

samyak jnana?
A S @Al [ e

What are the different types of asamyaka

jnana ? Name them.
SN CRle] SIS 2 OIS 1N (74 |

What are the different causes of error,

according to Dharmak irti ? Name them.

(IS e goe [fey Fiaeet & 2 sima aw
e |

Is there any distinction between prama and
pramana , according to Dharmak irti ? Explain

briefly.

LIRS 0 281 @ & e 6 et 2Ny =iz 2
HALEFHC! I 9 |

Why is pararthanumana called sabdatmaka?
Explain.

AL == 67 (&2 i 54|
What is meant by anarthasambhavana ?

LTI =0e 5 (@I 2



7.  Answer any three questions: 6x3=18

@-FIe fo=B erea Teq wie ¢

a)

b)

d)

46(A)/0S

Distinguish between indriyajnana and

manovijnana .

Bfrreals @ IR S 21y 9|

What is meant by prakarana? Is Nyayabindu

to be treated as prakarana ? Give reason.

2539 IECO 6 (AR 2 AR & 2Fae) 510z 91l 2
e mas |

Distinguish between svalaksana and

samanyalaksana .
FTe] @ AN S N AL |

Distinguish between pramana - vyavastha and

pramana - samplava .
eale] ] @ eIl FRACIE Wy A1 e T

Distinguish between tadatmya and tadutpatti.
How is vyapti established on these grounds?

SISy @] SyesAfe S SN 1 @3 TR
ARy Wife e dfefrs zae

[7] [Turn over]

Answer any two questions: 10x2=20

Q-G 7 20 Ted vie ¢

a)

b)

d)

46(A)/OS

Explain trirupa linga and show how they are

relevant in inferential knowledge. 10

famel forst el 99 9w Sffs @it s
ApifEFel (TS |

Explain anupalabdhi linga, svabhava linga
and karya linga with examples. 3+3+4

TRl TN Seoief@ foret, To foresr g F
forst i< 41 |

What are the different types of perception
admitted by Dharmak irti ? Explain each of
them. 2+8

IRIS-Figre ifom ez erera 5 1 2 arerit i
Sl

Write short notes on the following:

5+5=10
frmferirewlerm wkFERe e <= 8
1)  vyapti
ifes
1)  virudha
[B&a



GROUP-B
PART-III
(Hume)

(faew)
[Marks : 50]

(N ¢ o)

9. Answer any two questions: 1x2=2

@I BB Arsi Ted WG 2

a)

b)

d)

46(A)/0S

Give one example of what Hume regards as

judgement concerning Matters of fact.

Hume IS I [ITF SRGIF 0 OFF G0
TTIERE W |

Between an impression and its idea, which one,
according to Hume, is the cause and which one
is the effect?

@G 3@l @ IR QIell= e, Hume- 99 09 (0
IR 8 D 2

What is the difference between fiction and

belief, according to Hume?
Hume-3 (S S5 G R S0y e 1< 6 2

What kind of scepticism is not accepted by

Hume?
S 4@ A<M 2o 9%e e W 2

[9] [Turn over]

10. Answer any five of the following: 2x5=10

@I #Aivis aria e 11 ¢

a)

b)

d)

g)

46(A)/OS

What is meant by true metaphysics?
RRIRASISIE G RGSRTNSIEIRE:

State Hume's view on custom.

22l R e ot Srae 79 |
What is religious hypothesis?

«3r e 5 e

Why does Hume went to comment books on

divinity to the flames?

@ Hume 543 ©g 33 2303 AU @ re
bl ?

What does Hume mean by 'mental geography'?

T allst” Al 'mental geography' FETCe 28w
SIS EN

What are the main differences between

impressions and ideas, according to Hume?
Hume-93 09 7 '€ Qe &1 A<y & 62

What are the different kinds of scepticism,

according to Hume? Name them.

RGO AW F© &I 2 Sl 1% I |

[10]



11. Answer any three of the following: 6x3=18
-1 ol 2o Yee s ¢

a)

b)

d)

46(A)/0S

Explain the Humean distinction between
judgements concerning 'relation of Ideas' and
'matters of fact'.

YIS T [T ool @ ARG GBeT HATFS ooy -
@3 05 Hume @€ {12/ 17 3541 |

How does Hume resolve the conflict between

liberty and necessity?
Hume & o midiTer ¢ sivartom % fifbcares 2

Explain the three principles of association or
connection recognised by Hume.

2T R feomh SrpIcsts S12] RN IS it
Rl

Explain and examine Hume's doctrine of
causality.
FIGe ol BB o am ARG iy 4 |

Explain and illustrate Hume's distinction

between chance and probability.

Hume (& SFPE¢ (R SIFFAFO! 8 TGO o114
4|
What is miracle? Is miracle possible,

according to Hume? 2+4

Sl [ 2 RO e S [ 7eq?

[11] [Turn over]

12. Answer any two questions: 10x2=20

Q-G 7 20 Ted vie ¢

a)

b)

d)

46(A)/OS

Explain and analyse the definitions of cause

that Hume provides in his 'Enquiry’'.

28N ©I7 'Enquiry’ 9tZ FICER @ Ao
frcates St il ¢ fResEd 4|

What is Pyrrohnism? What are its difficulties?
Pyrro am &2 @31 opifRaiafe & e 2+8
"Custom, then, is the great guide of human
life"— Explain.

“elell At HHIF 281 TG @golef el el -
I A |

Explain Hume's conception of Philosophy as
the science of human nature. What is his idea

of metaphysics?

v 2o W9 APfod [Reeia— Zea-aa @2 iz
Iy 9 | SRR TR RS «iel fiwhel 2



PART-1IV
(Jeffrey)
(=)
[Marks : 50]
(T ¢ @o)

13. Symbolise any two of the following by using

quantifier, individual, variable, relation symbol etc:

1x2=2

fakirewlm @@ 1t dreTe M9, AT,
THFRS BF IR AR FFOIR® 9 ¢

a)

b)

d)

46(A)/0S

Alma loves those who loves Alma.

[T OIS SICETIRICT J AT ST |

Apples and bananas are delicious and

nutritious

oA G T T € BT |

We shall go for fishing if and only if does not
rain.

ol W GF0S AR AW @R (@<eTig A g Al
23|

If you pay me, then I shall do the job unless it

1s too hard.

T STegdl wie, O i FElt F1, -1 ©f 47
& 7 |

[13] [Turn over]

14. Answer any five questions: 2x5=10

(T-CHICA A 2oe Ted s ¢
a)  What makes an argument valid?
Q0! Y& FUF (74 T2
b)  What is material implication?
oo e 52
c¢) When is a set of sentence inconsistent?
Y (G AR AT AT AN ST ro syl &2 2
d) Construct a truth-table of (A <> B)
(A & B)-43 APl o711 54 |
e) When is a bioconditional logically true?
T @30 a2 epife (Tifes oy 272
f)  What is a counter example?
e Bie 62
g) What is a truth-function?
TOPICore 52
h) Say what is the difference between non-
exclusive sense of "or" and exclusive sense of
"or".
Sl ¢ fRercait oL@l a9 AL & <@l
46(A)/0S [14]



15. Answer any three questions: 6x3=18
@I fomft dos Ted mie ¢
a)  What is a truth function? Distinguish between

b)

d)

46(A)/0S

tautology and contradiction. 2+4

Ao FE 2 Fomey G2 Ao Na ey i<y
T 7 |

What is logical truth? Demonstrate the logical
truth of the following by applying the truth tree
method:

(x)[FX — Gx] - I:(X)FX D (X)GX]

e ey 2 WREHRST @ eTe 7oy
TOMIR o 2o FC (1S ¢

(x)[Fx - Gx] - I:(X)FX D (X)GX]

How can the Truth Tree Method be used to test
two sentences for logical equivalence? Explain

with example.

TRl #afe el a0 fFei@ v A e
(i st forefa 1 2 2 Swizgel 712 17 41 |

Explain, after Jeffry, the distinction between

sentence and statement with suitable example.

(GTRPIC ST SuizgepT2 A1 ¢ [Rgfos ey

AL 41|

[15] [Turn over]

Construct a truth-table of Conjunction,
Disjunction Material Implication and Material
equivalent.

A, [REGST oI e € TS HCTE
TSP T+l 54 |

16. Answer any two questions: 10x2=20

Q-G 7 20 Ted vie ¢

a)

46(A)/OS

Use truth tables to test the validity or invalidity

of the following arguments: 2% x4=10
ACPAA! &S T eI Jeafer (el w2
TS| A ¢
i) A— B
A—-B
-A
) A— B
A v B
B

A & B
—-(A & B)
-A&-B

iif)

(A&B)—>C
-A —- D
B—(CvD)



b)

46(A)/0S

Test the following inference for validity by the

truth tree method: 5x2=10
. (x)@y)xLy

1) (Ely) (x)xLy

... (R>F)&(-R—>5S)

i) Fvs

1)  Use the truth tree method to determine

whether the following is tautology? 4
Tl oo arne F@ mate e
IRTFRT T2 ey el ¢
(A—B)—>[(A&C)—> (B&C)]

i1) Use truth tree method to determine
whether each of the following is a
logical truth: 3+3

FOMIR ol Ae 3 R Tt e

erorve (@fes ey el ¢

A) Alma loves herself if she loves

everyone.

e fqrees eieEaEE I &

ZCOJR(CF O] |

B) Alma loves herself if anyone loves

her.

TS e IR I (@6 O
O |

[17] [Turn over]

d)

46(A)/OS

Test the following inferences for validity by
the truth tree method. Write "a" for Alma, and
"xLy" for for x loves y (any two): 5%2

Tl siEien AR e swel @arel
b1 39| grETENe "a"= S, @R X, y &F
SIETRIET = xLy @Rl (@G 95 )2

1)  Alma loves herself

Alma's love in sometimes reciprocated

i) (x)(Fx - Gx)
(EIX)(GX &HX)
(EIX)(FX & Hx)

iii) E—(FvG)
G— (H&I)
~H
~E—1




